Week 7
Thursday 7th May 2020
Yr6- Varied fluency
Please click on this link for more information: https://www.youtube.com/watch?v=F02E-RDYGj0
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Imperial Measures

Ta. Jacob and Zac are measuring the.
‘weight of their pencil cases.

Jacob's pencil case weighs 28g.
Zac's pencil case weighs 2 ounces.

Whose pencil case is the heaviest?

hig

1b. Hafsa and Sophia are measuring the
‘weight of their lunch boxes.

Hafsa's lunch box weighs 16 ounces.
Sophia’s lunch box weighs 2 pounds.

Whose lunch box s the heaviest?

hig

2a. Are the following statements fue or
false?

A. 2stones = 28 pounds
B. Sem = Sinches
C. 24inches = 3feet

heig

2b. Are the following statements fue or
false?

A lépints = lgallon
B. 3inches = 3feet
C. 2inches = Sem

heig

3a. Match the measurements fo their

320unces 2stones 2 gallons

16 pints 2 pounds 28 pounds

hig

3b. Match the measurements fo their

247 S6g Sem

2 2feet  2ounces

4a.Filln the missing measurements.

gallon | = 8 pints
2feet = inches
pounds| = 2stones

ing measurement

g|= 1lounce
2gallons =
ches| = 1foot
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Sa.Isaac
petrol.

s his car with 64 pints of

Jaxon flls

car with 10 gallons of petrol.

Who used the largest amount of petrol?

w

5b. Mille and lqra are comparing the

Millie’s dog weighs 20 pounds.
lara’s dog weighs 80 ounces.

Who has the hear

w

st dog?

4a. Are the following statements fue or
false?

A. 3stones 30 pounds

B. 4ounces = 1pound
c. 1pint =

X

0.125 gallons

6b. Are the following statements frue or
false?

A. 25cm = 100inches

B. 11feet = 132inches

C. 5.4lifres = 0.1pint
v

7a. Match the measurements fo their

10em 100" 1.25em
05" 4

P

250em

7b. Match the measurements fo their

dounces 3"  3gallons

0.25feet 24 pints 0.25 pounds
pred

8a.Filln the missing measurements.

pounds [ = 48 ounces
0.25 pounds = ounces
= 15gallons

ing measuremens

inches | = 3feet
40 pints = gallons
pounds | = 320 ounces
P
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9a. Jack is 130cm fall.
Maxis § feet fall.

Who is the fallest?

b4

9b. Ivy's pet weighs 14 pounds.
Isla’s pet weighs 2,800g.

Whose pet s the heaviesi?

b4

100. Are the following statements frue or
false?

A 1pint % gallon

B 25%oflpound = 5ounces
1

C. 7 stone 8 pounds

h4

10b. Are the following statements frue or
false?

A % pint = 0.28litres
15 foot = 2inches
C. 10%oflounce = 0.28g

h4

11a. Match the measurements fo their

<L stone

10% of 1 pound 5

2L

Tpound  2pints 1.6 ounces

h24

11b. Match the measurements fo their

25%of oot 025 pounds - ounce

289 3inches

12. Filin the missing measurements.

pints| = 1.5 gallons
20% of 1 pound = ounces
ounces | = 84g

k4

g measurements.

pounds| = 5.5 stones
25inches = em
pounds| = 1.6 ounces





